

1. $f(x+y) = f(x) + f(y), x, y \in \mathbb{R}$
2. $f(xy) = f(x) \cdot f(y), x, y \in \mathbb{R}$
3. $f(x/y) = \frac{f(x)}{f(y)}, x, y > 0$
4. $f(x/y) = \frac{f(x)}{f(y)}, x, y > 0$

$$f(x+y) = f(x) + f(y)$$

$$x=0=y: f(0) = 2f(0) \Rightarrow \frac{f(0)}{1} = 0$$

$$-x=y: \frac{f(0)}{0} = \frac{f(x)}{1} + \frac{f(-x)}{1} \Rightarrow \frac{f(0)}{0} = f(x) + f(-x) \Rightarrow \frac{f(0)}{0} = -f(x) \text{ неопределено}$$

$$f(x_1 + x_2 + \dots + x_n) = f(x_1) + f(x_2) + \dots + f(x_n)$$

$$\forall i=1, n \quad x_i=1 \Rightarrow \frac{f(n)}{1} = n \cdot \frac{f(1)}{1} = \frac{a \cdot n}{a=const}$$

$$x_1=x_2=\dots=x_n=\frac{1}{n} \Rightarrow \frac{f(1)}{1} = n \cdot \frac{f(\frac{1}{n})}{1} \Rightarrow$$

$$\Rightarrow f(\frac{1}{n}) = \frac{a \cdot 1}{n}$$

$$x_1=x_2=\dots=x_m=\frac{1}{n} \Rightarrow \frac{f(\frac{m}{n})}{1} = m \cdot \frac{f(\frac{1}{n})}{1} = a \cdot \frac{m}{n}$$

$$m, n \in \mathbb{N} \Rightarrow f(\frac{m}{n}) = a \cdot \frac{m}{n}$$

$$f(-\frac{m}{n}) = -f(\frac{m}{n}) = -a \cdot \frac{m}{n} = a(-\frac{m}{n})$$

$$\forall x \in \mathbb{Q} \quad f(x) = a \cdot x \quad f(1) = a$$

$$x=3, 4, 5, 6, \dots$$

$$x_1=3$$

$$x_2=3, 1$$

$$x_3=3, 1, 1$$

$$\dots$$

1) f - непрерывна на $\mathbb{R}$

$$x \in \mathbb{R} \setminus \mathbb{Q} \Rightarrow \exists \{x_n\} \subset \mathbb{Q} : x_n \rightarrow x$$

$$\text{непр. за } f(x_n) \rightarrow f(x)$$

Зелен

$$\frac{f(x)}{1} = \lim_{n \rightarrow \infty} f(x_n) = \lim_{n \rightarrow \infty} a \cdot x_n = ax$$

$$a(x+y) = ax + ay$$

$$\left[\begin{array}{l} G\text{-образная формула} \quad x \in \mathbb{R} \\ x = n_1 g_1 + n_2 g_2 + \dots + n_r g_r \\ n_i \in \mathbb{Z}, g_i \in G \\ f(x) = n_1 f(g_1) + n_2 f(g_2) + \dots + n_r f(g_r) \end{array} \right.$$

2) f - монотонна

$$\forall x \in \mathbb{R} \setminus \mathbb{Q} \quad \forall q \in \mathbb{N}$$

$$\exists p \in \mathbb{Z} : \frac{p}{q} < x < \frac{p+1}{q}$$

$$f \nearrow \quad \frac{f(\frac{p}{q})}{1} \leq \frac{f(x)}{1} \leq \frac{f(\frac{p+1}{q})}{1}$$

$$\frac{f(0)}{1} = 0 \quad a \cdot \frac{p}{q} \leq \frac{f(x)}{1} \leq a \cdot \frac{p+1}{q}$$

$$\frac{f(1)}{1} > \frac{f(0)}{1} > 0 \quad \frac{p}{q} \leq \frac{f(x)}{a} \leq \frac{p+1}{q}$$

$$\frac{p}{q} \rightarrow \frac{p+1}{q}$$

$$\frac{f(x)}{1} = ax \Rightarrow \frac{f(x)}{1} = ax$$

$$2. f(x+y) = f(x) \cdot f(y)$$

$$x=y=\frac{1}{2} \Rightarrow f(\frac{1}{2}) = \frac{f(1)}{2} > 0$$

$$\exists y_0 \in \mathbb{R} : f(y_0) = 0 \Rightarrow \frac{f(x+y_0)}{1} = \frac{f(x)}{1} \cdot \frac{f(y_0)}{1}$$

$$\Rightarrow \frac{f(x+y_0)}{1} = 0 \quad \forall x \in \mathbb{R} \Rightarrow \frac{f(x)}{1} = 0$$

$$\forall x \quad f(x) > 0$$

$$\frac{\ln f(x+y)}{g(x+y)} = \frac{\ln f(x)}{g(x)} + \frac{\ln f(y)}{g(y)}$$

$$g(x) = ax = \ln f(x) \Rightarrow \frac{f(x)}{1} = e^{ax} = b^x \quad (b = e^a)$$

$$3. f(x \cdot y) = f(x) + f(y), x, y \in (0, +\infty)$$

$$x=e^t, y=e^s \quad t, s \in \mathbb{R}$$

$$\frac{f(e^{t+s})}{g(t+s)} = \frac{f(e^t)}{g(t)} + \frac{f(e^s)}{g(s)}$$

$$g(t) = \frac{f(e^t)}{1} = at$$

$$\frac{f(x)}{1} = a \ln x \quad f(x) \equiv 0$$

$$4) f(xy) = f(x) \cdot f(y), x, y \in (0, +\infty)$$

$$x=e^t, y=e^s$$

$$\frac{f(e^t \cdot e^s)}{g(t+s)} = \frac{f(e^t)}{g(t)} \cdot \frac{f(e^s)}{g(s)}$$

$$\frac{f(e^{t+s})}{g(t+s)} = \frac{f(e^t)}{g(t)} \cdot \frac{f(e^s)}{g(s)}$$

$$g(t) = \frac{f(e^t)}{1} = \frac{f(e^t)}{\ln e^t} = \frac{f(e^t)}{t}$$

$$\frac{f(x)}{1} = \frac{f(e^{\ln x})}{\ln x} = b \cdot \frac{\log_2 x}{\log_2 e} =$$

$$= b \cdot (\ln \log_2 x) = b \cdot \frac{\log_2 x}{\log_2 e} = \frac{\log_2 x}{\log_2 e} = \frac{\ln x}{\ln e} = \frac{\ln x}{1} = \ln x$$

$$f(x) \equiv 0$$

$$\text{Пр. 1. } \frac{f(x+y)}{1} = \frac{f(x) \cdot f(y)}{f(x) + f(y)}$$

$$\exists y_0 : \frac{f(y_0)}{1} = 0 \Rightarrow \frac{f(x+y_0)}{1} = \frac{f(x) \cdot f(y_0)}{f(x) + f(y_0)} = 0 \text{ неопред.}$$

$$\forall x \in \mathbb{R} \quad \frac{f(x)}{1} \neq 0$$

$$\frac{1}{\frac{f(x+y)}{1}} = \frac{\frac{f(x)}{1} + \frac{f(y)}{1}}{\frac{f(x)}{1} \cdot \frac{f(y)}{1}} = \frac{1}{\frac{f(x)}{1}} + \frac{1}{\frac{f(y)}{1}}$$

$$g(x) = \frac{1}{f(x)} = ax \Rightarrow \frac{f(x)}{1} = \frac{1}{ax} =$$

$$= \frac{b}{x}, x \neq 0, b \neq 0$$

$$\text{Пр. 2. } \frac{b}{x+y} = \frac{\frac{b}{x} + \frac{b}{y}}{\frac{b}{x} \cdot \frac{b}{y}} = \frac{\frac{b^2}{xy} + \frac{b^2}{xy}}{\frac{b^2}{xy}} = \frac{2 \cdot \frac{b^2}{xy}}{\frac{b^2}{xy}} = 2$$

$$\frac{f(x)}{1} = \frac{b}{x}, x, b \neq 0$$

$$y, x \in \mathbb{R}$$

$$\text{Пр. 2. } f(x+y) = f(x) + f(y) + f(x) \cdot f(y)$$

$$\frac{f(x+y)+1}{g(x+y)} = \left(\frac{f(x)+1}{g(x)} \right) \cdot \left(\frac{f(y)+1}{g(y)} \right)$$

$$g(x) \equiv 0 \quad \forall \quad g(x) = b^x$$

$$\frac{f(x)}{1} \equiv -1 \quad \forall \quad \frac{f(x)}{1} = b^x - 1$$